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FrEM: : BF A 1583-14%

HOZEMLEICESITAMARERERR

SH2FEE
I BRI BisE A AR (70> RV ER) I e
5cm 50c¢m 100c¢m
AOF=Ra—rAO{HE — 0.10 — PA-1000
3/3(K) BRI QLEZHR — 0.08 — PA-1000
QL& — 0.08 — PA-1000
OF=R3—kAAQfHE — 0.09 — PA-1000
9/2(K) BN QLEZEHR — 0.08 — PA-1000
QL5 — 0.08 — PA-1000
TRRI1EERE
HER- X A ARR(eATP AR AT %
5cm 50c¢m 100cm
AOF=Ra—rAO{E — 0.09 — PA-1000
3/3(K)EY QLEZHR — 0.07 — PA-1000
QL5 — 0.06 — PA-1000
OF=—Ra—rAOfRE — 0.09 — PA-1000
9/4(K)EY QLEEZEHR — 0.09 — PA-1000
QL& — 0.08 — PA-1000
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HOZEMLEICESITAMARERERR

F A 304F
I BRI BisE A AR (70> RV ER) I e
5cm 50c¢m 100c¢m
AOF=Ra—rAO{HE — 0.09 — PA-1000
3/5(K) BN QLEZHR — 0.10 — PA-1000
QL& — 0.08 — PA-1000
OF=R3—kAAQfHE — 0.09 — PA-1000
9/71(&)EY QLEZEHR — 0.08 — PA-1000
QL5 — 0.09 — PA-1000
R 294EFE
HER- R A AR (AR — R R AT ti%
5cm 50c¢m 100cm
AOF=Ra—rAO{E — 0.10 — PA-1000
3/2(&)EN QLEZHR — 0.08 — PA-1000
QL5 — 0.09 — PA-1000
OF=R3—kAQfHE — 0.10 — PA-1000
9/4(A)EY QLG H R — 0.10 — PA-1000
QL& — 0.10 — PA-1000
3/9 (7837)
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SRR 284E
I BRI BisE A AR (70> RV ER) I e
5cm 50c¢m 100c¢m

AOF=Ra—rAO{HE — 0.10 — PA-1000

3/3(&)HEN QLEZHR — 0.09 — PA-1000

QL& — 0.11 — PA-1000

OF=R3—kAAQfHE — 0.11 — PA-1000

9/6 (X)) BEN QLG H R — 0.10 — PA-1000

QL5 — 0.10 — PA-1000

AR : 5 O01583-14%
TRR27EERE
HER- R A AR (AR — R R AT ti%
5cm 50c¢m 100cm

OF=Xa—kAOftiE — 0.10 — PA-1000

3/3(R)EI QLEZHR — 0.11 — PA-1000

QL5 — 0.11 — PA-1000

OF=R3—kAQfHE — 0.11 — PA-1000

9/4(£)EN QLG H R — 0.10 — PA-1000

QL& — 0.11 — PA-1000
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SRR 26£E
I BRI BisE A AR (70> RV ER) I e
5cm 50c¢m 100c¢m
AOF=Ra—rAO{HE — 0.09 — PA-1000
3/4(K)EN QLEZHR — 0.11 — PA-1000
QL& — 0.14 — PA-1000
OF=R3—kAAQfHE — 0.16 — PA-1000
12/4(K)EH QLEZEHR — 0.12 — PA-1000
QL5 — 0.14 — PA-1000
AOF=Ra—rAO{E — 0.15 — PA-1000
9/4(K)EN QLG H R — 0.12 — PA-1000
QL& — 0.15 — PA-1000
OF=Ra—rAO{HE — 0.15 — PA-1000
6.4 (K)EN QLEZHR — 0.13 — PA-1000
QL5 — 0.14 — PA-1000
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TR 254ERE
Bl E - EE A A e S L B ren
5cm 50cm 100cm
AOF=—Ra—kAOftHiE — 0.17 — PA-1000
311 (KN QILimHh R — 0.16 — PA-1000
QL5 — 0.16 — PA-1000
OF=—Ra—kAOftHiE — 0.17 — PA-1000
2./20 (R)EHL QILigzHhR — 0.15 — PA-1000
QL EZE A — 0.17 — PA-1000
- AOF=—Ra—kAOftHiE — 0.17 — PA-1000
1 /Tft(z ﬁﬁ%n QILEEZP R — 0.20 — PA-1000
QILEZE A — 0.14 — PA-1000
DF=Ra—rAOfHE — 0.18 — PA-1000
1279 (A)EY QILigzHhR — 0.16 — PA-1000
QL EZE A — 0.15 — PA-1000
OF=Ra—rAQAftA — 0.18 — PA-1000
11712 (R EEL QIkimzHhg — 0.17 — PA-1000
QILEZE A — 0.17 — PA-1000
OF=Ra—rAQAftA — 0.16 — PA-1000
1079 UKL QIkimzHhg — 0.15 — PA-1000
QILEZE A — 0.14 — PA-1000
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Rk 254 BE
AER - K& AIE R ARMA7AY—RVEER) AIER "%
5cm 50cm 100cm
OF=Ra—rAOfHE — 0.18 — PA-1000
QIR — 0.16 — PA-1000
9711 ()K) €Y QI=iZE — 0.17 — PA-1000
BAF — 017 — PA-1000 B0 IE (REFRIFIF D A BEIED B B 15 FF)
BA~F — 017 — PA-1000 ”
OF=Ra—rAOftHE — 0.17 — PA-1000
8719 (A) Bh QIRZH R — 0.17 — PA-1000
QI=imE A — 0.18 — PA-1000
OF=RaA—rAOfE — 0.16 — PA-1000
779 () Bh QIaZH R — 0.16 — PA-1000
QL Em — 0.17 — PA-1000
OF=Ra—rAOfHA — 0.18 — PA-1000
6.7 (&) £Y QILEFR — 0.17 — PA-1000
QL Em — 0.16 — PA-1000
OF=Ra—rAOfHE — 0.19 — PA-1000
522 (K) EBh QIaZH R — 0.17 — PA-1000
Q=5 Al — 0.15 — PA-1000
OF=Ra—rAOfHA — 0.17 — PA-1000
4/18(R) BN QILHH R — 0.17 — PA-1000
QL Em — 0.17 — PA-1000
7/9 (7837)
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23~ 244 B
SEII= S - =
B B - K0 B LS ICEPISPAAY I %
5cm 50cm 100cm
3/120K) AL Bt ER () — 0. 19 — PA-1000
2/14(K) Bh Bt AR () — 0. 20 — PA-1000
1/£?§k2ﬁ%m Eiith i ER () — 0. 21 — PA-1000
12/110K) Bh Bt AR () — 0. 20 — PA-1000
11./14(7K) BEh Bith i ER () — 0. 21 — PA-1000
10/11(K) Eh Bt hEh (G2) — 0. 20 — PA-1000
9-12(Kk) EENL Bith b ER () — 0. 21 — PA-1000
813(H) Bh Bt hEh (G2) — 0. 21 — PA-1000
711 (K) BN Bith i ER () — 0. 20 — PA-1000
6.15(&) BNh Bt AR () — 0. 21 — PA-1000
5/18(&) Bh Bith i ER () — 0. 23 — PA-1000
3.21(JK) BN Bt AR () — 0. 25 — PA-1000
2/140K) £Y Bith i ER (G2) — 0. 24 0. 23 PA-1000
1/;';%;‘%%” Bt p DR (G2) — 0. 26 0. 24 PA-1000
12/6(k) £Y Bt h v ER (G2) — 0. 26 0. 24 PA-1000
11/7(8) BEh Bt ER () — 0. 26 0. 26 PA-1000
Bt ep v Eh (2) — 0. 27 0. 26 PA-1000
10-724(B) Y Sk — 0. 23 — PA-1000
A F — 0.27 — PA-1000
234 oKt — 0. 26 — PA-1000
9/27(R) Fah HBIA P — 0. 30 — PA-1000
9/9 (FE37)




